October 9, 1991 WOCOMAL VARSITY MEET

ROUND I: Arithmetic — Order of operations and evaluation of

algebraic expressions

ALL ANSWERS MUST BE IN SIMPLEST EXACT FORM

1. Evaluate x + x+x° if x = 3.
2. Evaluate (100 - 10+3 + 5) + 21"'(7+2),
3. Lot a$b = ab®-ab.
Evaluate ((x$y)Pz) =5 y= =2
ﬁrygz)—— ir X=2, y~3, and z=—2.

ANSWERS
(L pt) 1.

(2 pts) 2.

(3 pts) 3.

Bromfield, Doherty, Notre Dame l I




Octonber 9, 1991 WOCOMAL VARSITY MEET

ROUND II: Algebra 1 — Open

LL ANSWERS MUST BE IN SIMPLEST EXACT FORM

| Evaluate -y 39X yyy f o x= -/
X

2 SI\MP//[‘j (x+y >(fy-«j)2 + ((jl-')/’l)(?(-tj)

3 ’/’/7 e numera for and (lfn omina for Of a ’[Fac#/on‘ are /\n{ejcr_r
d[ffaﬁni 67 (6. Ehd the 'ﬁuc#mh
fgan 2?5: [J(}f /fff Man _g’ .

it s Value 1s more

ANSWERS

(1 pt) 1.

(? pts) 2.

(3 pts) 3.

Marlboro, St.John’s, Shrewsbury



October 9, 1991 WOCOMAL VARSITY MEET
ROUND TII: Factoring

FACTOR EACH EXPRESSION AS COMPLETELY AS POSSIBLE OVER THE INTEGERS
AND SIMPLIFY EACH FACFOR SO THAT THERE ARE NO PARENTHESES INSIDE
OTHER PARENTHESES IN THE FINAL ANSWER

(. (2% -1)(x+e3) + (><+3)2

2. (’X +1§2+(7(+/) +(7<+2)

3. x -1y ey’

ANSWERS:

(1 pt) 1.

(2 pts) 2.

(3 pts) 3.

Auburn, Doherty, Msrlbhoro



October 9, 1991 WOCOMAL VARSITY MEET
ROUND IV: Perimeter, area, and volume

ALL ANSWERS MUST BE EXPRESSED IN SIMPLEST EXACT FORM

[ The sides f a driangle have lengths That are consecobve odd
/ntegers. Find e /onﬁam‘ side f fhe /)@r,\,,,efgr o 87,

2 [f the /&rgc;F pom'b/c Spherc were Tt inside rectangular
box with olr‘mc'njz'mr 3 ft [)y Y ft 67 5f[-) how much [eft

over room  would there b€ in fhe box T

3' /)[ MyoP /s a square with  area /5?- uni M N
and /N ANB s eyu;‘/a{em /, Ffrnd 7%( arec A
of LSANB,

ANSWERS

(L pt) 1.

(2 pts) 2. ft

(3 pts) 3.

Quaboag, Southbridgs, Westboro



October G, 1991 WOCOMAL VARSITY MEET
ROUND V: 1Inequalities and absolute value - answers on number lines

DRAW THE GRAPH FOR EACH PROBLEM ON THE NUMBER LINE PROVIDED.
SPECIFY ANY NONINTEGER ENDPOINTS.
USE NOTATION LIKE THIS FOR YOUR GRAPHS.

-5 -4 -3 ~2 - 0 J 2 3Fds ¥ 5

4 £x< -2 e X =/ 7 x> 3.5

1. X _x=2 _ x*l _ 4
g~ T3 =7%6 +
2. 1 < |ex+1] < 3
1
> =
3 xiz] > ¢
ANSWEFRS
(1 pt) 1- + ~+- + + —t +—
-5 -y -3 -7 -1 0 ! 2 3 4 s
(2 pts) 2- 4 4 1 2 L i L . " A 1
-9 -y -3 -2 - 0 l 2 3 ¥ s
(3 ptb) 3' 4 - —+— + + 'S St A — "
=5 -y -3 A -t 0 I} 2 3 y 5

Hudson, Millbury, Notre Dame



October 9, 1391

WOCOMAL VARSITY MEET

TEAM ROUND: Topics of previous rounds and open

ALL ANSWERS MUST BE IN SIMPLEST EXACT IFORM AND
ON THE SEPARATL TEAM ANSWER SHEEKT. 2 points each

2
/ (f'—;{—/—,eva/uafc ([L])f‘z ,‘{7:_5_,

2. /n a Camp there was enough food o last the Campers 60 days.

3

50 more campers (ere 6rwjhf n }mmc’d’/‘a&/y, bot e Tood SU]”/’/‘j
would new last 00/7 98 days. How many  Campers were [here dr!ylna//y.?

Factor  (x-2001)" + 935 (x-g001) + (x-10¢¢)

4 An Jsesceles right triangle  has & Aj/)ofmu;e of 6. Fnd the

5,

CiccomFereace oF e 7men7/e'5 inscribed clr¢le.

éf‘ap(n "“’

X 2| on a pumber //‘ne. Vau must Jf)ec[/:y

relevant Coomfr'na{‘es.
[{ P and 9 are p/)s:hve in%ejer: aod  P+9 <10 find the

number of different values that The prodvct  Pq can have ,

(£ g(x) represents the reciprocal of x| find all values of x
for which  gx) = 9(0) + 9(2) + 3(3) + 9(¢].

[How Many ways Can you give exactly 60¢ change 1f e
soly cons you have are A quarters, 7 dimes, and I nickels 7

A cvbe SUJPCrm'Cd /n arr ﬁar edga o /ény{'l‘: Scem, If a F/c/

lands on a vertex and Uhen wallcs along m/f the edges What- 15
the Qreatest distance lhe F/j Could wallc betore /‘a[urm‘n] fo

that vertex and witfoot retracing an edge 7

Rromfield., Doherty, llud=son, Leicester, Marlboro, St.John’s,
Tahanto, Worcester Academy
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